
Sheet Title:

Sheet Number:

To
ta

l S
ec

ur
ity

 S
o

lu
tio

ns

51
7.

22
3.

78
07

  F
ax

: 5
17

.2
23

.0
80

5
Fo

w
le

rv
ill

e,
 M

ic
hi

ga
n 

 4
88

36
93

5 
G

ar
de

n 
La

ne

T
h

e
se

 d
ra

w
in

g
s 

a
n

d
 a

ll 
in

fo
rm

at
io

n 
he

ro
n 

ar
e

o
f 

a
 c

o
n

fid
e

n
tia

l n
a

tu
re

 a
nd

 r
em

ai
n 

th
e

p
ro

pe
rt

y 
of

 T
O

T
A

L
 S

E
C

U
R

IT
Y

 S
O

LU
T

IO
N

S
.

A
ny

 u
se

 o
r 

re
pr

od
uc

tio
n

 o
f t

h
es

e 
dr

aw
in

gs
fo

r 
a

n
y 

p
u

rp
o

se
, 

e
xc

e
p

t b
y 

w
rit

te
n 

pe
rm

is
si

on
o

f T
O

T
A

L 
S

E
C

U
R

IT
Y

 S
O

L
U

T
IO

N
S

 is
 s

tr
ic

tly
p

ro
h

ib
ite

d.
M

K
-1

INSTALL DETAIL

IN-1

S
T

A
IN

L
E

S
S

 S
T

E
E

L
 S

P
E

A
K

E
R

 P
O

R
T

T
O

T
A

L
S
E
C
U
R
IT
Y

S
O

L
U

T
IO

N
S

#10-24 MACHINE SCREW

RUBBER GASKET

SPACER
1/4"THK PLASTIC

SPEAKER FACE

(SECURE SIDE)
w/ THRU HOLES

PLASTIC WEATHER SEAL

RUBBER GASKET

1/4"THK RUBBER
SPACER

w/ THREADED HOLES
(THREAT SIDE)

SPEAKER FACE

INSTALL INSTRUCTIONS:

1.  ASSEMBLE IN ORDER OUT FROM ACRYLIC WALL SECTION OVER HOLE
     FOR VOICE COMMUNICATION AS SEEN IN ASSEMBLY BELOW.
     (WITH Ø 5" HOLE)

(OPTIONAL - FOR EXTERIOR USE)

LEVEL 4 BALLISTIC INSERT

(OPTIONAL)



#10-24 MACHINE SCREW

(SECURE SIDE)
PLATE

BULLET RESISTANT

SPACERS
NYLON 

w/ THRU HOLES
(SECURE SIDE)

SPEAKER FACE

1/4"THK PLASTIC
SPACER

RUBBER GASKET

RUBBER GASKET

SPEAKER FACE

(THREAT SIDE)
w/ THREADED HOLES

INSTALL INSTRUCTIONS:

1.  ASSEMBLE IN ORDER OUT FROM ACRYLIC WALL SECTION OVER HOLE
     FOR VOICE COMMUNICATION AS SEEN IN ASSEMBLY BELOW.
     (WITH Ø 5" HOLE)

M
K

-1
 W

IT
H

 B
A

C
K

E
R

 P
LA

TE

INSTALL DETAIL

IN-1

S
T

A
IN

L
E

S
S

 S
T

E
E

L
 S

P
E

A
K

E
R

 P
O

R
T

T
h

e
se

 d
ra

w
in

g
s 

a
n

d
 a

ll 
in

fo
rm

at
io

n 
he

ro
n 

ar
e

o
f 

a
 c

o
n

fid
e

n
tia

l n
a

tu
re

 a
nd

 r
em

ai
n 

th
e

p
ro

pe
rt

y 
of

 T
O

T
A

L
 S

E
C

U
R

IT
Y

 S
O

LU
T

IO
N

S
.

A
ny

 u
se

 o
r 

re
pr

od
uc

tio
n

 o
f t

h
es

e 
dr

aw
in

gs
fo

r 
a

n
y 

p
u

rp
o

se
, 

e
xc

e
p

t b
y 

w
rit

te
n 

pe
rm

is
si

on
o

f T
O

T
A

L 
S

E
C

U
R

IT
Y

 S
O

L
U

T
IO

N
S

 is
 s

tr
ic

tly
p

ro
h

ib
ite

d.

93
5 

G
ar

de
n 

La
ne

Fo
w

le
rv

ill
e,

 M
ic

hi
ga

n 
 4

88
36

51
7.

22
3.

78
07

  F
ax

: 5
17

.2
23

.0
80

5

To
ta

l S
ec

ur
ity

 S
o

lu
tio

ns

Sheet Number:

Sheet Title:

SPACER
1/4"THK RUBBER

T
O

T
A

L
S
E
C
U
R
IT
Y

S
O

L
U

T
IO

N
S

PLASTIC WEATHER SEAL
(OPTIONAL - FOR EXTERIOR USE)



M
K

-2

INSTALL DETAIL

IN-1

S
T

A
IN

L
E

S
S

 S
T

E
E

L
 S

P
E

A
K

E
R

 P
O

R
T

T
h

e
se

 d
ra

w
in

g
s 

a
n

d
 a

ll 
in

fo
rm

at
io

n 
he

ro
n 

ar
e

o
f 

a
 c

o
n

fid
e

n
tia

l n
a

tu
re

 a
nd

 r
em

ai
n 

th
e

p
ro

pe
rt

y 
of

 T
O

T
A

L
 S

E
C

U
R

IT
Y

 S
O

LU
T

IO
N

S
.

A
ny

 u
se

 o
r 

re
pr

od
uc

tio
n

 o
f t

h
es

e 
dr

aw
in

gs
fo

r 
a

n
y 

p
u

rp
o

se
, 

e
xc

e
p

t b
y 

w
rit

te
n 

pe
rm

is
si

on
o

f T
O

T
A

L 
S

E
C

U
R

IT
Y

 S
O

L
U

T
IO

N
S

 is
 s

tr
ic

tly
p

ro
h

ib
ite

d.

93
5 

G
ar

de
n 

La
ne

Fo
w

le
rv

ill
e,

 M
ic

hi
ga

n 
 4

88
36

51
7.

22
3.

78
07

  F
ax

: 5
17

.2
23

.0
80

5

To
ta

l S
ec

ur
ity

 S
o

lu
tio

ns

Sheet Number:

Sheet Title:

w/ THREADED HOLES
(THREAT SIDE)

SPEAKER FACE

1/4"THK RUBBER
SPACER

RUBBER GASKET

RUBBER GASKET

1/4"THK RUBBER SPACER

SPEAKER FACE

(SECURE SIDE)
w/ THRU HOLES

#10-24 MACHINE SCREW

3/4" to 1 7/16"
GLAZING

THICK

T
O

T
A

L
S
E
C
U
R
IT
Y

S
O

L
U

T
IO

N
S

INSTALL INSTRUCTIONS:

1.  ASSEMBLE IN ORDER OUT FROM ACRYLIC WALL SECTION OVER HOLE
     FOR VOICE COMMUNICATION AS SEEN IN ASSEMBLY BELOW.
     (WITH Ø 5" HOLE)



Sheet Title:

Sheet Number:

To
ta

l S
ec

ur
ity

 S
o

lu
tio

ns

51
7.

22
3.

78
07

  F
ax

: 5
17

.2
23

.0
80

5
Fo

w
le

rv
ill

e,
 M

ic
hi

ga
n 

 4
88

36
93

5 
G

ar
de

n 
La

ne

T
h

e
se

 d
ra

w
in

g
s 

a
n

d
 a

ll 
in

fo
rm

at
io

n 
he

ro
n 

ar
e

o
f 

a
 c

o
n

fid
e

n
tia

l n
a

tu
re

 a
nd

 r
em

ai
n 

th
e

p
ro

pe
rt

y 
of

 T
O

T
A

L
 S

E
C

U
R

IT
Y

 S
O

LU
T

IO
N

S
.

A
ny

 u
se

 o
r 

re
pr

od
uc

tio
n

 o
f t

h
es

e 
dr

aw
in

gs
fo

r 
a

n
y 

p
u

rp
o

se
, 

e
xc

e
p

t b
y 

w
rit

te
n 

pe
rm

is
si

on
o

f T
O

T
A

L 
S

E
C

U
R

IT
Y

 S
O

L
U

T
IO

N
S

 is
 s

tr
ic

tly
p

ro
h

ib
ite

d.
M

K
-2

 W
IT

H
 L

V
L 

IV
 P

LA
TE

INSTALL DETAIL

IN-1

S
T

A
IN

L
E

S
S

 S
T

E
E

L
 S

P
E

A
K

E
R

 P
O

R
T

T
O

T
A

L
S
E
C
U
R
IT
Y

S
O

L
U

T
IO

N
S

BULLET RESISTANT
PLATE

(SECURE SIDE)

INSTALL INSTRUCTIONS:

1.  ASSEMBLE IN ORDER OUT FROM ACRYLIC WALL SECTION OVER HOLE
     FOR VOICE COMMUNICATION AS SEEN IN ASSEMBLY BELOW.
     (WITH Ø 5" HOLE)

w/ THREADED HOLES
(THREAT SIDE)

SPEAKER FACE

1/4"THK RUBBER
SPACER

RUBBER GASKET

RUBBER GASKET

1/4"THK RUBBER SPACER

SPEAKER FACE

(SECURE SIDE)
w/ THRU HOLES

#10-24 MACHINE SCREW

3/4" to 1 7/16"
GLAZING

THICK

SPACERS
NYLON 



M
K

-3

INSTALL DETAIL

IN-1

S
T

A
IN

L
E

S
S

 S
T

E
E

L
 S

P
E

A
K

E
R

 P
O

R
T

T
h

e
se

 d
ra

w
in

g
s 

a
n

d
 a

ll 
in

fo
rm

at
io

n 
he

ro
n 

ar
e

o
f 

a
 c

o
n

fid
e

n
tia

l n
a

tu
re

 a
nd

 r
em

ai
n 

th
e

p
ro

pe
rt

y 
of

 T
O

T
A

L
 S

E
C

U
R

IT
Y

 S
O

LU
T

IO
N

S
.

A
ny

 u
se

 o
r 

re
pr

od
uc

tio
n

 o
f t

h
es

e 
dr

aw
in

gs
fo

r 
a

n
y 

p
u

rp
o

se
, 

e
xc

e
p

t b
y 

w
rit

te
n 

pe
rm

is
si

on
o

f T
O

T
A

L 
S

E
C

U
R

IT
Y

 S
O

L
U

T
IO

N
S

 is
 s

tr
ic

tly
p

ro
h

ib
ite

d.

93
5 

G
ar

de
n 

La
ne

Fo
w

le
rv

ill
e,

 M
ic

hi
ga

n 
 4

88
36

51
7.

22
3.

78
07

  F
ax

: 5
17

.2
23

.0
80

5

To
ta

l S
ec

ur
ity

 S
o

lu
tio

ns

Sheet Number:

Sheet Title:

w/ THREADED HOLES
(THREAT SIDE)

SPEAKER FACE

1/4"THK RUBBER
SPACER

RUBBER GASKET

RUBBER GASKET

SPACER
1/4"THK RUBBER

SPEAKER FACE

(SECURE SIDE)
w/ THRU HOLES

NYLON 
SPACERS

BULLET RESISTANT
ARMORED PLATE LEVEL 4  1/4"

(SECURE SIDE)

#10-24 MACHINE SCREW

3/4" to 1 7/16"
GLAZING

THICK

PLASTIC WEATHER SEAL

T
O

T
A

L
S
E
C
U
R
IT
Y

S
O

L
U

T
IO

N
S

INSTALL INSTRUCTIONS:

1.  ASSEMBLE IN ORDER OUT FROM ACRYLIC WALL SECTION OVER HOLE
     FOR VOICE COMMUNICATION AS SEEN IN ASSEMBLY BELOW.
     (WITH Ø 5" HOLE)



M
K

-H
D

INSTALL DETAIL

IN-1

S
T

A
IN

L
E

S
S

 S
T

E
E

L
 S

P
E

A
K

E
R

 P
O

R
T

T
h

e
se

 d
ra

w
in

g
s 

a
n

d
 a

ll 
in

fo
rm

at
io

n 
he

ro
n 

ar
e

o
f 

a
 c

o
n

fid
e

n
tia

l n
a

tu
re

 a
nd

 r
em

ai
n 

th
e

p
ro

pe
rt

y 
of

 T
O

T
A

L
 S

E
C

U
R

IT
Y

 S
O

LU
T

IO
N

S
.

A
ny

 u
se

 o
r 

re
pr

od
uc

tio
n

 o
f t

h
es

e 
dr

aw
in

gs
fo

r 
a

n
y 

p
u

rp
o

se
, 

e
xc

e
p

t b
y 

w
rit

te
n 

pe
rm

is
si

on
o

f T
O

T
A

L 
S

E
C

U
R

IT
Y

 S
O

L
U

T
IO

N
S

 is
 s

tr
ic

tly
p

ro
h

ib
ite

d.

93
5 

G
ar

de
n 

La
ne

Fo
w

le
rv

ill
e,

 M
ic

hi
ga

n 
 4

88
36

51
7.

22
3.

78
07

  F
ax

: 5
17

.2
23

.0
80

5

To
ta

l S
ec

ur
ity

 S
o

lu
tio

ns

Sheet Number:

Sheet Title:

w/ THREADED HOLES
(THREAT SIDE)

SPEAKER FACE

1/4"THK RUBBER
SPACER

RUBBER GASKET

RUBBER GASKET

SPACER
1/4"THK RUBBER

SPEAKER FACE

(SECURE SIDE)
w/ THRU HOLES

NYLON 
SPACERS

BULLET RESISTANT
ARMOR PLATE - LEVEL 8  5/16"

(SECURE SIDE)

#10-24 MACHINE SCREW

3/4" to 1 7/16"
GLAZING

THICK

PLASTIC WEATHER SEAL

T
O

T
A

L
S
E
C
U
R
IT
Y

S
O

L
U

T
IO

N
S

INSTALL INSTRUCTIONS:

1.  ASSEMBLE IN ORDER OUT FROM ACRYLIC WALL SECTION OVER HOLE
     FOR VOICE COMMUNICATION AS SEEN IN ASSEMBLY BELOW.
     (WITH Ø 5" HOLE)


	1
	2
	3
	4
	5
	6

